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PART I/ 417 I
CHILD DEVELOPMENT AND PEDAGOGY / a1t farmy 9 frememen

Directions : Answer the following questions by
selecting the most appropjfiate option.

Environmental ~ factors  that  shape
development include- all of the following
except

(1) quatlitonf education
(2) physique

(3) quality of nutrition
(4) culture:

Seema learns every lesson very quickly but
Leena takes longer to learn them. It denotes
the developmental principle of

( 1)‘ continuity
(2) general to specific
(3) individual differences

(4) inter-relationships

Development starts from
(1) the stage of infancy
(2) pre-childhood stage
(3) post-childhood stage

(4) pre-natal stage

Which of the following is predominantly a
heredity related factor ?

(1) Attitude towaidspeer group
(2) Thinking pattern

“(3) Colour of the eyes

(4) Participation in social activities
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Teachers are advised to involve their
learners in group activities because, besides
facilitating learning, they also help in

(1) Value conflicts
(2)  Aggression
(3) Anxiety

(4) Socialization

A student is aggressive in his behaviour
towards his peer group and does not conform
to the norms of the school. This student
needs help in

(1) Cognitive domain
(2)  Psychomotor domain
(3) Affective domain

(4) Higher order thinking skills

The stage of cognitiye - development,
according to Piaget, in which a child displays
‘object permanence’ is

(1) Sensorimotor stage

(2) Pre-operational stage

(3) Concrete operational stage

(4) Formal operational stage

According to Kohlberg, the thinking process
involved in judgments about questions of nght

and wrong is called

(1) Moral realism

{2) Moral dilemma

(3)  Morality co-operation

(4)  Moral reasoning
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10.

11.

12.

13.

In co-operative learning, older and more
proficient students assist younger and lesser
skilled students. This leads to

(1) conflict between the groups
(2) higher achievement and self-esteem
(3) intense competition

(4) higher moral development

In a child-centered classroom, children

generally learn

(1) individually

(2) in groups

(3) individually and in groups

(4) mainly from the teacher

The statement “Majority of the people are
average, a few very bright and a few very
dull” is based on the established principle of

{1) Growth of intelligence
(2) Intelligence and sex differences
(3) Intelligence and racial differences

(4) Distribution of intelligence

Ability to recognize and classify all varieties
of animals, mincrals and plants, according to
multiple intelligences theory, is called

(1) Linguistic intelligence

(2) Spatial intelligence

. (3) Logico-mathematical intelligence

(4) Naturalist intelligence

Thinking is essentially

(1) a psychological phenomenon
(2) an affective behaviour

(3) a cognitive activity

(4) a psychomotor process

©

10.

11.

13.
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14,

15.

16.

17,

18,

A good textbook avoids
(1)
(2)
(3)
4)

gender bias
gender sensitivity
gender equality

social responsibility

Gifted students will realize their potential
when

(1)
)
(3)
4

they are segregated from other students
they attend private coaching classes
they are tested frequently

they learn with other students

Inclusive education refers to a school

education system that
(1) includes children with disability

(2) includes children regardless of physical,
intellectual, social, linguistic or other

differently abled conditions

(3) encourages education of children with
special needs through exclusive schools

(4) emphasizes the need to; promote the
education of the girl child only

Dyslexia is  associated mainly  with

difficulties in

(1) speaking

(2) speaking and hearing

(3) hearing

(4) reading

The major frustration that children with
hearing loss face in the classroom is

(1) the inability to read the prescribed

textbook

(2) the inability to participate in sports
and games

:(3) the inability to communicate or share
information with others

(4) the inability to take examinations with

other students

14.
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19.

20.

21,

22.

23.

The ‘doing’ aspect of behaviour falls in the
(1) Cognitive domain of learning

(2) Affective domain of learning

(3) Conative domain of learning

(4) Psychological domain of learning

A student works hard to clear an entrance test
for admission into a medical college. The
student is said to be motivated

(1) intrinsically

(2) extrinsically

(3) individually

(4) experientially

A teacher engages her learners in a number of
group activities such as group discussions,

group projects, role plays, ete. The learning
dimension it highlights is

(1) language-guided learning
(2) competition-based learning
(3) learning as a social activity

(4) learning through recreation

Creativity is usually associated with

(1) Convergent thinking

(2) Divergent thinking

(3) Modelling

(4) Imitation

A teacher always helps her learners link the
knowledge they have derived in one subject

area with the knowledge from other subject
arcas. This helps to promote

(

) individual differences

—

(2) learner autonomy
(3) reinforcement

(4) correlation and transfer of knowledge

20.
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24.

25.

26.

27,

Teachers should study the errors of their
students as they often indicate the

(1) extent of their knowledge

(2)  remedial strategies needed

(3)  pathways for ability grouping

(4)  need for differentiated curriculum

When previous learning makes no difference
at all to the learnipg in a new situation, it is
called

(1) Positive transfer of learning
(2)  Negative transfer of learning
(3)  Zero transfer of learning

(4)  Absolute transfer of learning

According to Piaget’s cognitive theory of
learning, the process by which the cognitive

structure is modified is called
(1) Assimilation

(2) Schema

(3) Perception

(4)  Accommodation

According to theories of motivation, a teacher

can enhance learning by

(1)_ not having any expectations from
* students

(2) setting extremely high expectations
from students ‘

(3) setting realistic expectations from

students
(4) setting  uniform standards of
expectations
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98, A teacher uses audio-visual aids and physical

29.

30.

activities in her teaching because they

(1) provide a diversion to learners

(2) utilize maximum number of senses to
enhance learning

(3) provide relief to the teacher

(4) facilitate effective assessment

When a teacher involves a visually challenged
learner in group activities with the other

learners of the class, she is

(1) helping all the lcarners to develop
sympathy  towards the  visually
challenged learner

(2) likely to increase the stress on the
visually challenged learner

(3) creating barriers to learning for the
class ‘

(4) acting according o the
inclusive education

Science and Art exhibitions, music and dance
shows and bringing out school magazines, are

meant to

(1) establish a name for the school
(2) satisfy the parents
{3) provide a creative channel for learners

{4) train students for various professions

spirit  of
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Candidates have to do questions 31 to 90 EITHER Q’ﬁg]ﬁ'ﬂ? #! 97 31 Booaa o ( e ¥

from Part Il (Mathematics and Science) OR from ﬁmq) eI (Wm%ﬁ 3T AT 7%377)
Part II (Social Studies/Social Science).

B

PART 11 / {11 1
MATHEMATICS AND SCIENCE / 1ford g o

Directions : Answer the following questions by
selecting the most appropriate option.

31,

32,

33,

4-2-97+ 3"+ 1+3 is equal to
(1 17
(2) 16
3 15
4 12

Which of the fractions is the least ?

24
%

10

1

99

100

68

69

When the number 3% is divided by 5, the
remainder is

fdn : Frleifla wd & 3 34 & fo waw afem
fameq g |

3L

32.

33.

4-2-90 4 3+ 14 g e A d )
M 17
@) 16
3 15
@ 12

fritahd fimeRodi )

2
25
10
1
99
100
68
69

HE 3% 53 W R, I G g
M 1
2) 2
(3 3

10 |
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34.

35,

36.

Two positive numbers x and y are inversely
proportional. If x increases by 10%, then y
decreases by

(1) 10%

2) —%
2) no

100
3 2
LT

10
11

How many times will T be writing 2 if 1
wrote down numbers from 11 to 1997

The expression oy ex+y- 7 + 2y1 - 7 |36

has one factor, which i3

(1) y-x+2

@2 x-y+z+l

B x+y-z+1

4) x-y-z+1

34, 2 A O x S y AT & |

o7 100 % g 8 2, W yF A
1) 10%

2
2 =%
(2) Th

1—0-0-%
1

10
H —
@ "

o ) gerd 13 199 et &, @ R fed
an 2 fra ¢ 7

(1 36
(2) 37
(3) 38
(4) 39

53131?5xz—'y2+x+y~z2+2yz—z'qﬂl{—fﬁ
IS ¢

(1) y-x+z

@) x-y+z+l

3) x+y-z+1

4) x-y-z+l

11 |
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37,

38,

39,

Given n numbers, n > 1, of which, one is
l1- l and all others are 1's, The mean of
n

the n numbers is
(1 1

n
1
n
1
4 1-=
o2
Shown here are expressions given to Seema,
Ances, Asha and Tessy with their answers,
Seema:4x1+8+9=8
Anees: 644 +2-1=4¢
Asha: 9+3x2-4+2=10
Tessy : 27+3-2x3=21

Who has got the correct answer ?

(1
2
3
(4

) Seema
) Anees
) Asha
) Tessy

If A<+
4

| on

H

B=3+[(4+5)+6]

C=8+{+5)+6 and

D=3+4(5+6) then
(1) Aand B are equal
(2
{
(

3) Aand D are equal

)
) Aand C are equal
)
)

4) Al are equal

3.

38.

39,

nmﬁﬂsé,m n>1'§,3ﬁlﬁﬁﬁﬁ
WA 1 {1481 @
n el 4 e g

1

@ n--

n
(3) n—i

n
n 1-;12_
e, S, e it 2 A S w f
¢ 3 9% o e ewiom d
| 4x1+8+92=8§
M 6+4+2-1=4
M 9+5x2-4+9=10
A o3-2x3-21

¥ e W Iw o s )

Q)
(3) 3T
@ 2
3.5
A=+ 2
i 4 6
B=3+[(4+5)+6]

C=[3+(4+5]+6 qT

12 |
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40.

41.

42

Given the numbers 375 x 1077, 3% x 107,

375 x 107 and % x 1077, Which of these is
not equal to 0-000000375 ?

1 375 x 107

3 T
2 3-x10
( 1

3) 375 x 107

n % 2 107

The diameter of a cylindrical jar is increased
by 25%. By what percent must the height of
the jar be decreased so that there is no
change in its volume ?

(1) 10

2 2

(3) 36

(4) b4

In the figure, ABC is an isosccles triangle
with CA = CB and BC 1s produced to a
point D. If CE L BC, such that

éD=1£E=l£A,
2 2

then measure of Z ACD is
A

E
) 10°
) 120°
) 135°
) 140°

40,

42,

dEd 375 x 107, 3% % 107 375 x 107 &R
%xm”ﬂf@%'lsﬁ@ﬁ?-lﬁm

0000000375 & TR T e ?
1 37x 107

) 3% (107

3) 375 x 107

(4) %x10_7
T e W F A ¥ 259 9 9 W W

¢ 1 3 T A SR fr e w9 &
fF 9% M § B 9ged 7 7

1) 10
@ %
(3) 36
(4) 54
aaf i, ABC W TR Fr g, fd
CA=CB T BC & U fag D & %24
T § | 9 CF L BC, 3 YK 2 fF
/=Lsp=14
2 2
8, @ 2ACDH v
A

B
y1I0°
) 1207
) 135°
) 140°

13 |
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41

A large basket of fruits contains 3 oranges,
& apples and 5 bananas. Il a plece of [ruit is
chosen at random, what is the probability of
pretling an wrange ar o basang ¥

4

]

{1

12

L=

i3

&= | =

(4

e | e

The symbal -"i"-, drawn o any size means
a+4, and the symbal JE, drawn to any size
means b*, where & and b are numbers. Then
the value of

Bk

(1} 75
@ %
(3 2
4 %

Il xy=6 and €y 2y + %+ y =63, then
the value of ¥ +J.'E 18

(1) 23

2 5

(3 61

4 6

13,

T WA A A 2w d 3§, od o
5 £ A it v @ anfes
A e B oamn d, @ s uR T m
Fel g o) Wl G '

'l
mnm -
b

121

&

1
H}E
fim & T ow ol o A W
Hﬂﬁia+d.ﬂﬂ'ﬂﬂ?[ﬂ,ﬁﬁiﬁfﬁ1ﬁ

R R, 9 5AwE b, T o ot b Femd
i

4]+ A4~ A\
A ¢
(L 75
(2) 35
(3 32
i) 8

T xp=6 3 xa_-,rﬂfuw:ﬂﬁt,iﬂ
R h

(1 23
[&] 53
3 a6
) 69

14 |
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46.

47,

The mean of the median, mode and range of

the observations
6,69 14,899,8
18

@ 88
3) 103

4) 106

According to the given graph, between which
two consecutive months was the change in the

auto sales the greatest ?

Auto Sales
4751 -

ey
on
T

£25¢ = —

3751
35
3251

Sales (in T million)

3
>

Jan  Feb March April May June

(1) January - February

(2) February - March

(3) April - May

(4) May-June

46.

47.

Wk 6, 6, 9, 14, 8, 9, 9, 8 % WA, TEOF
T FAR & A 2

(1 85
(2) 88
(3 10-3

4) 105

RU T oo # 9PN, WM A wm
R # s dem (e feR)  H aeed
o @ ?

e A
475} —
45t |
425t ] —

3751

farshl (€0 @ T H)

325y

v

v o W ®
(1) e - Wl
(2) Wt - 7N
(3) ¥ - 7

(4) W-H

15 |



ERI
et Sefedl -2012 U
bl TR U

44,

4.

In the figure, in trianglos POR  gnd TQR, |48,
PQ=TR and FR . Q. Which of the
Tellowing statoments is true 7

4] R

I T
{1 4 PQR 2 A TR
(2 4 PYR = A TQR
{3 a PR = 4 RQT
14 4 PQR = A qTR

The least fumber which 1% a poerfu EfUre
and is also divisible By 10, 12, 15 and 18 i

(1) 3604
(2] Z500
1600
4} 900

How many lines of SYMmetTy dogs g | B,
parallelogram haye 7

3
2 2
(3 None
['I:l 4

T 5, P PR TQR, g - 1y i
FR:'rqﬁ’rﬁﬁﬁﬂaﬂH-mmﬂﬁE‘ 7

Q It

r T
in A PR = 4 TR
i APQR = A TGR -
W APQR = & BT
W APQR = gTR
9% B A ﬂiﬁiﬁaﬁnm_
W12 15 9 147 ) e ), 8
i1 5800
(% 2500

(3 1600
(4 om0

ﬁﬁmmmaﬁﬁﬁ#mﬂrﬁvmﬂ

3

i2) 2

(3 T

4 4
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51

52.

53,

Ankur got zero marks in a word problem on
linear equations in an assessment. The
teacher knows that he can solve linear
equations correctly. The teacher ought to
remark in his report’

(1) Ankur is not studying and practising at
home

(2) Ankur has not understood the concept
of linear equations completely

(3) Ankur has a problem in comprehending
the language of the question, though he
can solve the equations

(4) Ankur lacks concentration and hence
has examination phobia “

A suitable approach to introduce Coordinate
Geometry in Class IX is through the use of

(1) Lecture method
(2) Role play

(3) Demonstration  using technology

integration

(4) Solving problems

Summative Assessment  of the unit
‘Mensuration’ can be done through

(1) Project work
(2) Maths Lab activity
(3)  Paper-pencil test

(4) ICT activity

s A v i feE wE s

& § 4w e § Y o few g

e o 3 5 % Yow wieol @ W

o Y 7 w3 | e e

# froll fereet =fRe

W SR W OWA QT E AT
HEH FE

@ g @ o wiwel & e 0
we O oy A W o

@ SR @ T @ o ¥
a5 ¢, o e T Wi & A
T T AV ¢

w R H @ e e o
o e W W g

w1 X FRiE el o & F fau
T IO

(1) =EH v

(2) W fAlk (@@ @)

@) TAfE wmEE @ IEm & g

(4) G AN
it T A A
o e o WA R | |
(1) o

(@) R e et

(3 TR-AE e
) ardad A, widfafi

17 |
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M. While solvng 2 problem  Based on

Pythaporas theorem', 2 toacher draws the
fellowing triangle ABC.
i

ZAN

Rajan argued that the triangle ABC iz nge
drawn currectly, The only way Lo draw if 15
A

B C
Fajan has the mistoneeption as

(I he is weak in goometrieal coneepls

@) his teacher must have always drawn
Lhe triangle in this parlicular way

(@1 he has dysgraghia

4] e lacks in analytical ability

In order t help the students with difficultios
in remembering the geometrical terms and
their meaning, a teacher must

(1} stress on rote memorization of all torms .
and definitions

(21 use lots of activitis like proparing or
salving  crossword  pugles, jigsaw
puztles, ot

GBI west stodents  on defimition of
peometrical terms

) encourape proup discussions

a4,

TAE A W M A e
B 5 v Pl e A o £
4]

AN

TR 7 1 0§ ARG 3
T E W i

A
i 0
TR F T 4A gl §

T R dwe g
2 T ot 3 o 8 7 g
il

B % FE-wp (o) & v b

W T e g o g

o et 3t sty v ol ook e

o ¥ A i f ) w a

frie Fms &

1} w5 TR s 8w
T F W W A A

(2 i R R s
W,ﬁ-—ﬂ@ﬁmﬁmﬁ%
F-E S, W% T aw

(4 T R A v Gl
T v o A

W T 3 e w R
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56.

57,

While

Ms. Rama demonstrated some computer

teaching ratio and proportion,

operations on the screen — ‘copy and paste’
and ‘copy and enlarge’ or ‘copy and reduce’.

This activily may be

(1) pre-content activity to introduce ratio
(2) post-content activity

(3) formative assessment activity

(4) fun activity to pass time

A student observed the following examples

(1002 = (5 + 5)2 = 52 + 25)(5) + (5)2 = 100 .

= (6 + 42 = 62 + 2(6)(4) + (4)% = 100

= (8 + 2)2 = 82 + 2(8)(2) + (2)2 = 100

=(1+972 =12 + 20)(9) + (92 = 100
and concluded that

(2 + b)’ = a% + 2a)b) + b2,

The above method of drawing conclusions is

(1) Deductive

(2) Inductive

" (3) Analytical

(4) Activity

56.

I R T R W, P O W

T q U v @ s g |

g Tfdfat 8 W 8

() ¥ # WP W F v
fawg-aw-ya ffafy

(2) femy-ae]-ove uffafe

(3) FUHE e Tidafafy

(4) THY oI O % fAu weer Tty

v foryed] fusifellod szl ® sl i
g

(1002 = (5 + 5)2 = 5% + 2(5)(5) + (5% = 100
= (6 + 4% = 6% + 2(6)(4) + (4)% = 100
= (8+ 272 =8+ 2(8)2) + (2)% = 100
S(e9Psits 21)9) + (92 = 100
R fremd feprer @
(a+ D) = a* + 2a)b) + b,

frrd feer & 390w e 8
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M. M,
Maths Lab activitios and ICT activities 1o

clurify  the ennggpl  pf Bymmetry’.  Mr
Manish wants Ly

i1
12
r

4]

Manish uszed

totz of mamipulatives, |58,

water Lo students of all learming slybia
be popular amongsl his students

Pase Llime 8o that he ean gvoid toaching
o mexl tepic, as it is not of his inlerpst

cater to kinesthetic loarners only

8. Problem solving method is the
(1 gradual and eystomatic fuiding through
the hierarchy of mathematical nokinnz, | 5o,
ideas and techniques
(@) teaching of rathemgtical results,
definitions and concepts by repetition
and memorization
F teaching thi development o
falhemolio: within g histermcal, sovial
andl et e lext
0 sullivalion of mathgmalical inuily,
creativity and  hewristic thinking by
making students apen-minded
. Salman solves - 3 - 4 = +7. The arror is
cofimitted g &l
1) Salman is careless

2}

141

|

Salmar 5 fet clegr about the cencopt |
of sddition of intogers

Salman  feeds b0 practise solving |
mblems ol similar type

Sulman has not understood the cancopt

"ol multiplication of integers

i

A wei T A e A owe e

A = 5 e (THrgEfrag), i
E?:u LEIE BT #l

LR e e

(0 ol oy difenli am) i
T A

a0 frafd & e fa o #

B T A § oAk §

If-ﬁ'%ﬂwﬁﬁﬁﬂﬁ. il i o

&

i‘q’ﬂﬂh’mﬁmﬁﬁjﬂﬁgﬁm
T

il

[

141

HHE-EHINE G §

(0 vy S, e s mme &
AR T T = S
s frm-fadm

@ Tl A owm % g vy e
TEHHIAT T TRl &) wee

nioam R B A il nfas
e iRl wed § wery

) fﬂ?ﬂﬁﬁfi‘f‘qﬁ?mmmﬁrmEz&
O S, T i e
(s=rviar) e fafen e

R -3 -4 =T v R

# am §

(1) B a8

@ TH W oW & dew @ de
wE w2

(3) Hﬁmﬁmmﬂﬂﬂwﬁaﬁﬂ
w0k @ s

W HER R T R e w e
e i '
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51

62.

63.

The following observations were made by
students A, B, C and D when they rubbed
solid baking soda on dry litmus paper :

Effect on dry Effect on dry
Student red litmus blue litmus
paper paper
Colour changed
A to blue No change
Colour changed
B No change to rod
C Colour changed | Colour changed
to blue to red
D No change No change

The correct observation was made by the
student

1 A
2) B
@ C
4 D
A laboratory thermometer shows five small
divisions between the markings of 55°C and

56°C. This means that the thermometer can
read correctly up to

(1) 551°C

(2) 555°C

(3) 552°C

(4) 5525°C

Which of the following group of words can be
correctly identified with Rhizobium ?

(1) Root nodules, pitcher plant, nitrogen
deficient soil

(2) Nitrogen fixation, root  mnodules,
leguminous plants

(3) Roots of legumes, parasite, soluble
nitrogen compounds

(4) Leguminous plants, symbiotic, stem

nodes

61.

62,

frmfit A, B, C 701D I 5 @ fRemE W W
I AfET G (@ ) U, @ SR

frmfafigd sraeisa oy
P g I foeny | @ i forewd
T W 9E T R y9E
A qﬁa;rrmn%m ¢ e
B | e am;;rﬁ;aa
o | et dudE | A G #
Ei g
D | & agam 7 | % 9<ad T
forg ferandf zm fom T s W@ R 7
1 A
2 B
3 C
@ D

T AT A (i) 55°C 3R 56°C
¥ 9 v 9R faied wlE @ | T
aeed € f amd
TeT S W ¢ |

(1) 551°C

(2) 55:5°C

(3) 55‘2°’C

(4) 5525°C

Frfafan # § @Y TR-WE A A
¥ g UE €9 ¥ @ 1w g 2

1) & F oA, wewl, TEeeE & w
awl g

(2) RNE Rl S@ @ A, wekRr
g

(3) AR W wg, o, faeaeia
agerE AT

(4) TR wey, Weddl, o @& iy
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66.

67.

68.

When carbon dioxide is passed through clear
lime water solution, it turns milky. The
milky appearance of lime water is due to

(1) presence of impurities in lime water
(2)  presence of insoluble calcium carbonate
(3) presence of soluble calcium carbonate

(4)  curdling of milk due to lime in lime
water

When electric current is passed through a

‘metallic conductor, amount of heat produced

in the conductor depends on its
(1) material and length only_
(2) length and thicknessvonly
(3) material and thickness only

(4) material, length and thickness

PET bottles and jars are commonly used for
storing edible items. PET is a very familiar
form of

(1) Polyester
(2) Acrylic

(3) Rayon

(4) Polyamide

The minerals that are required in the right

. amount for proper functioning of muscles are

(1) Iron and calcium
(2) Sodium and potassium
(3) Iodine and fluorine

(4) Iron and iodine

Antibiotics are effective against
(1) Dengue Fever

(2) Cholera

(3) Influenza

(4) Hepatitis A

65.

66.

67,

68.

64, W9 FE SEIAFRS AN T F U ¥ e

T RA 2 A P W O gl @ @
I F T w gfrm F I
e < @ |

(L) & T Iufem stxedt (i)

(2)  faerRia Hewam s@fe 5 sty
(¥ faereri Sfewm wde @ sl
@ T FuH AP F I gy W gy

S Hifead e fagd ui v @ 2, At
e § 3T F A WA T9 _
R R & @ ‘

(1) Fad verdf ek o

2 Faq o’ ok AR

3) Fad wed sk AR

@) vod, ¥ sk A

mm@umﬁr@%%mﬁzm«m
digell 3R S owE fem wmr @ 1 %
(PET) 1 QURfaa &R ¢ |

(1) vfeTeR

@) UfsHfe

3) @A (FHm T

4)  uffetaee

Wﬁﬁ@ﬁgﬂmfm%mh@ﬁ%ﬁ
Ft v wmn § aervEmwar a2

(V) o e |

(2 dfem . F

(3) R T wE

(4) e T AR

yferifae & TR F yet §
(1) 37 F@R

@ &

(3)  SHgs

@) i
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69.

70.

71,

72,

73.

When CNG or LPG undergoes complete |69.

combustion, the products formed are
(1) CO, only

(2) CO,, CO and HyO

(3) CO, and H,0

4) CO,, SO, and H,0

The smallest of living organisms with cell {70.

wall are

(1) Cyanobacteria
(2) Bacteria

(3) Yeast

(4) Algae

The process of converting sugars into n

alcohols is known as
(1) Homogenization
(2) Fermentation
(3) Pasteurization
(4) Sterilization

The SI unit of calorific value is
(1) Kd/kg

(2) Calorie

(3) Jikg

(4) Kilocalorie/kg

Given below are a few chemical processes :
a. Rusting of iron L

b. Burning of a candle

¢.  Respiration

d. Photosynthesis

Which two of
combustion ?

(1) bandc
2) bandd

these

(3) danda

(4) aandc

represent  slow

72.

73.

s dEs, @ i & opl e g,
T IR T § '

(1) % CO,

2) CO, CO T Hy0
3) CO, @ H,0

(4) CO,, SO, T H,0

Ao Fof e TR e w3

(1) EEEaRE

(2) ]

3) U

(4) Var

A @ Ueaed o ofefid & @
F AW q o o 2

(1) SR

RELLE

(3) IRERT

(4) SHEVARH

Fuiig " A CH.e, @ ¢

(1) fearE afa fFdmmE (Kdkg)

@) &A@ (Calorie)

3) @ S fFamEm Jke)

(4) T sf gt (Kilocalorie/ke)

a. 'vﬁ%msiﬂm
b, HHEE S
c. Yduq

4, TERI-HTEN

o 4 A Q9 e B o g
(1) b3k ¢
2 b3 d
@) d3iR a
4) adic
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4.

7.

76,

.

78,

Which one of the following man-made fibres
is also called artificial silk ?

(1)
(2)
(3)
4)

Nylon
Rayon
Acrylic
Polyester

74.

If the frequency of vibrations of a body is
decreased and its amplitude is increased,

then : 75.

(1)

@

)]
(4)

The dietary fibres are

1)
(2)

-(3)

4)

Which of the following statements related to
earthquakes is not correct ?

0y

The gas which forms carboxy-hacmoglobin in
the blood, causing suffocation is ‘ 78,

oy
(2)
3)
(4)

both pitch and loudness of sound
produced will decrease

both pitch and loudness of sound
produced will increase

pitch increases but loudness decreases

pitch decreases but loudness increases

also called roughage

made up of cellulose and proteins
made up of collagen fibres

made up of proteins

The Richter Scale is not linear but
logarithmic.

The seismic waves originate from focus.

The record of the seismic waves is
called seismograph.

The  seismograph
seismogram,

records the

Carbon dioxide
Chlorofluorocarbon

Carbon monoxide

Nitrogen

76.

77.

frefefen ara-fff Y & & sw g

TN g 8 2
(1) HEaq

N

@ @A

3) U
(4) ifeaeex

W Rl ag @ A A R e @ sk

IGF! AW T34 8, q9

(1) 39T @ & aRa sk yaorar o
el

2 3T @ #@ R ok e o
T §

(3) N T § A Yo v §

(4) O Wed § A Yaww T @

SRR W

(1) ww of wRem §

@) deelst ok S & T ¥

(3) FeeE W ¥ T §

@ N ¥ T §

U 8 gEt et e A Y sl

F T AR 2 - '

() ot S e R e agmE @

@ Td T ER Y I A §

@) T W R s ()
FEA R |

@) Tuod  (fEs) @ s
(et %1 e @

T T AT w8
fored o gear 8, 2

(1) @ IRiEe

@) TR

3) WA QAR

(4) RIS
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7.

80.

The gases prescnt'in atmosphere that cause

greenhouse effect are

(1) Carbon dioxide, sulphur dioxide,

methane

Nitrous oxide, oxygen, water vapour
Methane, water vapour, carbon dioxide

Carbon dioxide, oxygen, nitrogen

In order to determine acidic, basic or neutral
character of solutions, a student tabulated the
following results after experimentation. Which
of the following observations has been

tabulated correctly ?

79,

80.

apied i Iufiad 1 & AR T H O
;

(1) FH SRS, WoRl SRS,
piOiE

(9) TELH Hlewige, A, TA-aw
(3) B, TN, FET SRS

(4) FHA geEES, S, At
foead & orld, aRE @ IEEA S &
frf 7 & fo, @ fandl w0 & W
frfafad whom ot @ € | fraed
s i 3 W s ¥ w0l e
a8 )

Colour | Colour offed Tt
Tost change | change | Acidic/ i g | frewg @7 | fremg o 39@;37/
Y en af , ) , , i . y &{R-{‘I‘Jq/
e T P st I B KA
paper | paper et
Al mact | N | Red | Acidic Al nac || aw | ol
change e T Sl
Lime No {3 & £ |
B | TH
B water Blue change Neutral T A ufEw T
C | Vinegar | No No Neutral C| fom A K e
change | change et 8 o
D Ve B | (B ||| p [T | ]
£ 1 Qe yfae Tl 9

!

y
'
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81,

82.

83.

84,

A Science teacher is interested to focus more
on acquisition of process skills by the
learners. Which of the following combination
of methods of teaching should be preferred
by her to achieve the objectives ?

(1) Assignment-cum-questioning method
(2) Lecture-cum-discussion method
(3) Project-cum-laboratory method

(4) Lecture-cum-demonstration method

‘Which one of the following is most suited to
the development of scientific skills in
students ?

(1) Conducting Science quiz
(2) Organizing a field visit
(3) Conducting Science Olympiads

(4) Performing laboratory work

Which one of the following is the major
objective of teaching of Science at upper
primary stage ?

(1) To promote rational thinking

(2) To remember names of scientists and
scientific discoveries

3 To learn important facts and formulae

(4) To develop proficiency in solving
exercises given at the end of the
chapter

Practical work in Science may be given due

emphasis in order to

(1) improve the percentage of marks
obtained by the students

(2) help the students develop the habit of
maintaining written records

(3) keep proper check on punctuality and
regularity of students

(4) help the students verify the theorctical
concepts

81.

82.

83.

84,

s fagrr forfere fomnfédi gro wmmr-shorl &
I W SR M S FE1 AR 8 1 3@
frafafaa 4§ w8 Rigv-ysik-dasa @
grafirrar & T aif @8 39 eREl W wa
T Ggh ?

(1) T FE-BT (cum)- A TGfA

(2) SAEIE-"FH (cum)-Td TEfd

3)  URANH-FH (cum)- ST Tgfa
) - F (cum)-FRTA T

frafafgs # 4 sA-w foofE § dwfe
FA F foowg F U w9 SR I @ 2
(1) fogm-mARd &1 A

(2)  SF-gU F RN H

@) fogm-aifafeae & e &

(4) vamTeTar-aE e s

ﬁmﬁﬁaﬂﬁﬁaﬁmmmmﬂmmm

ferg-freor 1 e Rew R 2

(1) s e 1 seEr &

2 W & W @Rk dwtw @ @ AR
m .

3) "ew@qul a@i g g3 da

(4) F@E F H9 ¥ U T e @ g
& A fgumn fesfed s

fom # & fAu w1 w a@

feam < HeRar @ |

(1) foafadl g/ s fee e s & fawa
i gur &

(2) fafga fa€ wA &1 smed &1 fow™
F U it ® g w9

3) frofdE @ gge-uEd st frafia @
Td R 4 S w0

(4) Ggifis deea el & g&a@ # S w0
¥ fomnfedt & werEa 9
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85,

Project method in teaching of Science 15 suited

maost to

{1} promote understanding ol  basic

concepls in Stience
{2) enhance numerical abilities of students
{3)  strengthen reasoning skill of students

(4) promote scientific method of working

Constructivist approach in teaching of Science

refers to

(1) applying  different  mathematical
formulae in solving problems

{2} providing experiential  learning o
sludents

i3) providing more and wmore reading

material (o students

{4) providing addilional academic help o
weak students

. Which one of the following is the key feature

of Formative Assessment in Science ?
(1) It iz conducted at the end of the year.
(2 It is diagnostic in nature.

i3) It is aimed at developing scientific
temper in the students.

{4) It is aimed at enhancing practical
skills.

g5, faymfoem i ofigem wf &

&6,

few, W) e s @

(1) fagE i smRE dEEAs ®owg w
g ¥

(@) frafim # 3% waiyaEE game
# WA w

@ i % wbo whE fo5E wA
@) a w6 A dwree gef # agE 9

fogm-fomm # TEER-2W & #

Hhd wdl § | .

(1 mwen wwe § fafem ofede gl @
W &

(2 Fenfdi ®1 anpafas s swee w0

ey Fenbn W abEE-g-dvE  gEa-ml
IR T

) Fwm o oW wffe Tetw
R T

Frefafa # @ -9 fagm # wUeE S
& e faimm @ 7

(1) u & & s ¥ srdfew fen am g
(@ = ww v § FreEes R

(3) 3o vy § feufid ¥ dwfem fm
mﬁzﬁmaﬁﬂn

) wm s § wEiE FE @O

FA |
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88.

89,

90.

" (4) integration

Summative Assessment in Science should

mainly focus on
(1) testing of mainly the practical skills

(2) testing important theoretical concepts

© (3) assessing observation skills

(4) diagnosing the areas of learning

difficulties of students

One of the main limitations of the Project

method of teaching Science is that

(1) the students have to perform excessive

mental and physical work
(2) it is a psychological method

(3) knowledge is not acquired in a

sequential manner

of concepts in various

subjects can be achieved

Assessment in Science should focus more on

testing the ability of students to

(1) state the facts and principles of Science
correctly

(2) apply the understanding of concepts to
unfamiliar situations in everyday life

(3) answer open-ended questions

(4) be sufficiently equipped for higher
learning

88.

89.

90.

fagE o AR SR R WA

& =R |

() 7 W ¥ YA FRE w@ R
A

(z)mmmaﬁmmm
Eact .

(3) EcH S B AFEH FA

(4) fafE & ofrm-wfeaE ot & @
fem &

PR 1 ROF-TER # T T

w®e

(1) Frfd & sfus W § qAfEs il
wiRE F F wed 8

m%@ﬁ%ﬁm%

@) I F wEE w9 @ A A R S
T

(@ e el & e A
W AT ST W 8

fogm # oo ¥ frenféd & Cil

IEa F WY | WG 9 fed 9

M |

(1) fagA & aed ek fogEl @ W@ w9 d
Fdr

@ i Sfad @ sffed fefmE A
daheqet & §9g & Fagr ¥ A

(3) W% o At WA & IW A

4) I s & fou v ®Y 9 @
FiE|
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Candidates have to do questions 31 to 90 EITHER qﬁgnféﬂ} & Iy7 31 dooaral v (ﬂﬁna' a

from Part II (Mathematics and Science) OR from ﬁ,?ﬂq) ar ugrr (me%,—m— TS WA E 1%3",-{)

Part III (Social Studies/Social Science). Tl g |

3L

32.

33.

PART 111 / {71 111
SOCIAL STUDIES / SOCIAL SCIENCE (WFIfoid 1eads | amifsie foem)

The East India Company used the Diwani
revenue from Bengal primarily in

(1) purchasing cotton and silk textiles in
India

(2) amassing stocks of gold and silver to
replenish the dwindling stocks in
Britain

(3) constructing bridges and roads

(4) building
universities

schools,  colleges  and

The East India Company set up a factory in

Bengal on the banks of Hugli in 1651 to

(1) manufacture  cotton  textiles  for
exporting to England

(2) buy spices for sending them to England

(3) buy Indigo (Neel) from local farmers to
send it to England ,

(4) establish a base from which the factors
could operate

The division of the period of Indian History
into ‘Ancient’, ‘Medieval’, and ‘Modern’ also
has problems. Which of the following is one

. of the problems in it ?

(1) The concept has been borrowed from
the West where Modern period was
associated  with  science, reason,
democracy, liberty and equality

(2) Indian History seems to have clear
lines of distinction between ‘Ancient,
and ‘Medieval, and ‘Medieval’ and
‘Modern’ period

(3) Tripartite division reflects
- growth of the Indian State

(4) Three periods are
.describe Indian History

gradual

insufficient to

31.

32.

33.

= ifew a3 g w0 &
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(8) a ¥R wgF
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@ dfewr it 3 1651 § dmw § @R @ &

R el T & '

() e W fElkd 0 ¥/ E F &
AT & fau

@) el B @i 3% s Ao § fau

@) Wi fFEE § AT SieR 3 ge
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4) T YR (99) W[ &3 F o @
Y $E T FW A T

o e @ TR, W, #R eyt

Frei § fwfa e § gmad @ §

ffafan # § 98 wwen S48 2

(1) T Ghew e ¥ @ R W
WA 3 gEEaT @ g 2

(2)W3ﬁ€mﬁ‘mﬁqm’aﬁﬂ
e, 9 e
F ¥ S W wy Wl W g6 g
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34,

35.

36,

37,

Which of the following was a part of temple
architecture of the ninth century ?

(1

(4

Pietra dura was a

(1)

Who of the following was impeached by the [36.
British Parliament ?

Which of the following combinations of|.
kingdoms was engaged in tripartite struggle ?

(1

2)

(

W

)

(4)

Yagya Vedi (Seat to perform sacred

incantation)

Havan Kund (square pyramid shaped
pot with open mouth to hold fire)

Decorative gateway (Dwara)

Rangshala (place to perform dance)

Style of decoration of buildings
Role of succession
Greek god

Metallurgy technology

Charles Clive
Warren Hastings
T.B. Macaulay

Cornwallis

Chola, Rashtrakuta, Pala
Pala, Pallava, Rashtrakuta
Rashtrakuta, Pala, Gurjar-Pratihara

Pala, Clola, Gurjar-Pratihara

34,

35,

frfafad & @ @i-w A W ¥ AR
W FEl e o 2

(1)

2)

3)

(4)

7 A (v W o swR & @
SR)

w(aﬁﬁnﬁmmwﬁm
# wafed & SR o)

HH9ET gR (3R)

TR (T4 WA & & T77)

fogarT g a4t

@

(2)

4)

i T R A
ITIUER # sqfe

A <a
il Tt

fefafoan 7 8 fw w ffow W9 @
el T g )

(1) 9ed FaEd
@ a7 ™

3

(4)

A fa
e

frafafgs & @ SH-w = @ daem
fafeaarem dod & wife a7 2

(1) ad, TPEe, WA

@ U, v, T

(3) WPFS, A, TeR-HfER
(4) W, T, RS
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39.

40.

41,

In 1720, the British Government cnacted a 38.

legislation called the Calico Act to

(1) ban the use of printed cotton textiles —
Chintz — in England

(2 punish rebels from Calicut
(3) promote Calico industry in England

(4) produce Calico textiles in England

Muhammad-Bin-Tughlaq shifted his capital
from Delhi to Daulatabad

(1) to escape from Mongols
(2). to punish Southern rulers

(3)- to control his empire effectively as
Daulatabad was centrally located

(4) as he was not getting enough revenue
from North India

Tanti, Momin and Devangs communities
were engaged in

(1) Leather works
(2) Weaving

(3) Wood works
(4) Pottery making

As a consequence of the Revolt of 1857,
which of the following was a change initiated
by the British Parliament ?

(1) Pathan and Sikh soldiers were banned
from joining the British Indian Army

(@) All ruling chiefs of the country were
warned that military action would be
taken against them if they support any
rebellion

(3) A member of the British Cabinet was
appointed Secretary of State for India

(4) The land and property of prominent
Hindu and Muslim citizens who
supported the revolt were confiscated

39.

40.

41,

1720 H, fafew T@R e F fog

e afufran i fean |

) ?ﬁ"s’ﬁmﬁm{rﬁm-ﬁ?-é«
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@) @ 0 FeEn (g FUE W Ieaed
Erel

q‘rm-ﬁm—wﬁsqﬁmwﬁﬁ:ﬁﬂ@

Serarar, samiaa i e ?
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(3) aﬁwﬁmaﬂ%ﬁﬁﬁﬁﬁm
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4) i W Y W i T T
@l o
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(3) aFE & FH

(4) aﬁqmﬁ%aﬂn
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ﬂéﬁuﬁ:é‘ﬁeﬂﬂﬁﬁsmwﬁq
§ @ o fwe OFm Fda@ #

(2)

@) m%&ﬁz%@wﬁw%

) ﬂsrgawrégaﬁigﬁ?«mqmﬁaﬁﬁ
i s gd we A o TR
fgle 1 wndA f&ar @
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42.  Chera chieftains ruled in twelfth century in
the area presently lying in
(1) Chhattisgarh/Madhya Pradesh
(2) Jharkhand/Bihar
(3)  Uttarakhand/Uttar Pradesh

(4)  Punjab/Haryana

43, Which of the following three universities
were established in the year 1857 by the
British Govemment ?

(1) Calcutta, Madras and Bombay
(2) Calcutta, Madras and Banaras
(3) Caicutta, Bombay and Punjab
4) Calcutta, Bombay and Delhi

44, Tribal people do not keep written records of

their past. How do present-day historians
write tribal history ?

(1) Using archacological sources
(2)  Using oral traditions

(3)  Using natural traditions

(4)  Using tribal mythologies

45, Bidri was

(1) an inlay work in copper and silver done
by the artisans of Bidar

(2) a type of silk textile produced in Bidar

(3) a type of cotton textile produced in
Bidar

() a type of copperware produced in Bidar

46.  Which one o! the following Sultans used the
Banjaras to transport grains to the city
markets ?

(1) Balban

(2)  Firoz-Shah Tughlag

3) Muhammad-Bin-Tughlaq
() Alauddin Khilji

42,

43.

45.

46.

el R F d e ¥ fw dy w
T R w A TR A fagd
(1) wiEme Ry

@) FNEs/fRr

(3) ITEE/TH R

() aaeftron

Bl @R g W 1857 ¥ Frefetaw #
#-8 d favaferre wite fg o

FOH, AR G
R, T T TR
FHTH, I T G
FAH, d9 qU e

MG () @ e famer forfiga
Fals 78 Tad § | oA & s s
e 3 frad ¥ 2

(D) Quawdd &d & 5@ a5

@ @ wwel @ v s

() T W o e

(4)  nfeard dfomr-Fast & s a0

el & a1 2

(L) PR TRl g AR st 9 i e
T T w5

@ R # s@fE Wl aR W o
@) ¥ Ild q wR 7w R
) ﬁaﬁwﬁaaﬁ%wﬁmqmw

Frafafad & & frg gomm 3 s 2 wee %
T A A F A daR o
(1) ¥

@ s grem

(3)  HgRR-for-gers

(4) IR fgersh

L]
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47,

48,

49,

50.

51,

Which of the following tribal socictics was
divided into khels ?

(1) Gond
(2)  Ahom
(3) Santhal
(4) Bhil

Why did Jatis emerge within Varnas, which

became the basis to.organize Indian society ?

(1) Fierce opposition against Varna system
gave way to development of Jatis

(2) Due to gradual expansion in social and
economic needs of the people, people
with new skill-sets were required

(3) There was a problem in integrating
tribal people into Varna system

(4) Jatis and Varnas are one and the same

A historical site is a place where
(1) history-loving people gather
(2) historians write history

(3) relics of the past are found

(4) excavation activities are done

What is ‘Common Era’ ?
(1) A new era to study historical events

(2) Christian Era which is now accepted in
major parts of the world

(3) Indian Era accepted by the government

to issue notices
(4) A new Era developed by amalgamation

of Hindu Era and Islamic Era

Which of the following combinations of
planets is known as ‘gaseous planets’ ?

(1) Venus, Jupiter, Mars, Saturn
(2) Mars, Venus, Saturn, Uranus
(3)  Jupiter, Saturn, Uranus, Neptune

(4) Jupiter, Mars, Earth, Neptune

47,

48.

49,

50.
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52.

54,

55,

56.

57

- dying

If Ahmedabad is situated on 72°30'E
longitude, what would be the local time of
Ahmedabad if it is 8:00 am Indian
Standard Time ?

(1) 8:40 am

(2) 8:00 am

(3) 7:20 am

(4) 7:00 am

Plantations, a type of commercial farming,
require a large amount of

() land and labour

(2) labour and capital

(3) land and capital

(4) only capital

Vultures in the Indian subcontinent started
of kidney failure shortly after
scavenging livestock treated with

(1) Diclofenac

2) Aspirin
3) Ibuprofen

(

(

(4) Aldrin

Ahmedabad is a hub of cotton textile

industry. Which of the following is one of the

factors for flourishing textile industries in

Ahmedabad ?

(1) Itis situated close to cotton growing area

(2) TIts easy access to the Tuticorin Port

(3) Industrial Policy of the Indian
Government

(4) Availability of cheap labour-force

Wind actions create ‘Mushroom rocks’ which
are usually found in

(1) Hills

(2) Plateaus

(3) Deserts

(4) Tropical coastal areas

‘Blackfoot Indian’ is a

(1) disease prevalent in Nicobar Islands
(2) native tribe of North America

(3) plantation worker in Cuba

(4) migrant Indian in Canada

52,

53.

54.

55.

56.

57.

M STEHCAR 720 30'E IR W faw 2, @
3EUSEIR H W THE F R AR 4Ny
HAF 9T 8:00 am & ?

(1) 8:40 am

(2) 8:00 am

(3) 7:20 am

(4) 7:00 am
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H H e sTEvasaT el @ 7

1 o iR sm

@ &9 i s

3) o sk i

@) FFd Eh
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& g fredt () & oW 7 30 % Fnw 70
A, I ITER & oy o

MRAG Gl au W W T (F) §
frafafad # @ @-w R sReER ¥ aw
F & Ho-Fed & e Saer @ 2

(1) 8 *U9 F T ard &7 F ug 8
2 TR T 6 e s @

(3) YNNG TER & afifs g

4) 9 T W H-URE F STl

¥ o S §

(1) W&l

(2) W
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58,

59.

60.

In nuclear power plants, electricity is
generated through the process of
(1) nuclear fusion

) nuclcuf fission
(3)  nuclear collision
)

(4) atomic vibrations

Which type of rainfall is represented in the
diagram given below ?

V¥

| |

—

|
|

v
[
{
|

Ay

'~

e
Moist

(1) Cyclonic rainfall

(2) Orographic rainfall
(3) Convectional rainfall
(4) Frontal rainfall

The following diagram shows the position of
the Earth on a particular day. A, B, C, D
and E are locations on the Earth. Which
location will experience longest hours of
daylight ?

SUN

1 A
(2) B
@) C
4) D

59.

o0

60.
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T
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61.

62.

63.

‘Right to Education’ is a Fundamental Right
under Article 21 which deals with ‘Right to

Life’ because
(1) education is life

(2) not all people had right to education

- (3) education helps in leading a dignified life-

(4) only an educated person has right to life

Public Interest Litigation (PIL) has

(11 increased access to justice
(27 hampered the delivery of justice
(3) led to a decrease in judicial activism

(4) hampered government functioning

All Indians should have a right to vote
irrespective of their socio-economic status.

This idea can be associated with
(1) B.R. Ambedkar
(2) Jawaharlal Nehru

(3) Mahatma Gandhi

(4) Dr. Rajendra Prasad

The first hour of every sitling of the Lok
Sabha is called

(1) Zero hour
%) Question hout
(3) Public hour

(4) Privilege hour

e @ SRR SR 21 § M TF
e ofimr 3 S e @ R @
grafud 8 it
(v fowr S R
@ wi afwdl @ e W R T e
@) forn TRAWE SE S A wEwEe w2

(4 Wﬁmwﬁﬁﬁaﬁsﬁaﬁmafw%

S feq a@fa=sr (PIL) 8T g 7
(1) = faem ¥ dgd

(2 =g frem § @
(3) =afaw wiwaar ¥ firree

(4) TER FE-FE K &

Tl AR A TR SR B AR R
TR -3 R Fs o @ 1 98 R
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(1) NN SfdEH
(@) SEEER AEE
(3) WEre T

(4) o Wi Y6E

AT W F TS W H N9 v
q YF & g

1 I
@ T FA

(3) WrESAE He
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3.

68.

According to the Indian Constitution, the |85.

right empowering cilizens Lo move to igh
Court or SBupreme Court if they believe that
any of their Fundamental Rights has been
violated by the State, is

(1) Right against exploitation

(2) Right to equality

(3) Right to life

{(4) Right to constitutional remedies

Showcasing adivasis as wearing colourful
costumes, headgear and dancing often
results in

(1} promoting adivasi culture

(2) demonstrating the diversity of Indian
culture i

(3) attracting attention of the world to the
plight of poor adivasis

(4) discriminating against such groups

The Government of India appointed a
committee headed by Justice Rajinder
Sachar to examine the social, economic and
educational status of which of the following
communities 7

(1} Jain

(2) Sikh

(3)  Anglo-Indian
(4) Muslim

Media is no longer considered independent
because of its close links with

(1} Government agencies
12)  Business houses
(3 NGOs

(d)  Civil society

WRAE afeA we femomn i
IR T TG S B R e
waler =imen o wEd ¥ afy o tw wm
& o o7 difers wbE = wER 70 Sedw
G

(1) ¥ ¥ fawg sfiwn

(2) W w1 sfER

(3) Wt w1 i

(4) Wt Iy @ e

sfcaferdl @1 f-falt @3 @, f WO
S SR AT 4T G weag w9 weim
F4 & ey

(1) feard wwfa & S frem #

(2) e g & fafyam wefim a

(3) WM ® w@H WA afEfa #@)
T # AR A d @

(4) W WR % TE ¥ o RwE da #

frfafaa # & fom agerm & oo, anfés
At VifE wW oA W w0 F far ammm
T weat F Hom ¥ YRS WER @O
wHfa # e fEm w2

(1) o

2) fEE
(%)  We-weAg
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(2) =RE wE
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69,

70,

71,

72

CK. Janu is a very eminent
(1) Adivasi activist

(2)  Environmentalist

(3)  Seript writer

4 Anthropologist

‘Putting out system’ is

(1) whereby merchants sell their

merchandise on instalments

(2) whereby merchants force labourers to

work for extra hours

(3) whereby merchants give advances and

receive the product

(4)  whereby merchants supply raw material

and receive finished product

Without
that

Burden
learning in

(1993
Social

‘Learning
recommended
Sciences should

(1) help in the retention of important
information

(2) promote  developing
abilities to analyse
realities

concepts  and
socio-political

(3) develop skills relevant to jobs

@ continue to follow the epistemological

framework of
developmental issues

highlighting

The book ‘Social and Political Life-IT’
advocates which of the following forms of
evaluation, among other forms ?

{1)  Open book exercises

(2)  Personal interviews

(3) IT (computer) enabled evaluation
(4) Written mode of examination

69,

70.

71.

72.
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73.

74,

75.

While teaching ‘Poverty’, which strategy
would be most appropriate ?

(1) Prepare notes and deliver a good lecture
(2) Give hand-outs to students and explain

(3) Engage students in debate and

discussions

(4) Ask students to read from the textbook
and explain the difficult words

The National Curriculum Framework 2005,
suggests that instead of ‘Civics’, the term
‘Political Science’ be used because

(1) The term ‘Civics’ was coined in the Raj
era and is associated with obedience
and loyalty

(2) ‘Political Science’ is taught at a higher
level of "education, therefore schools
should prepare grounds for it

(3) ‘Political Science’ is a globally

recognized field of study

(4) ‘Political Science’ will provide political
training

‘Team Teaching’

G encourages healthy competition among

teams of teachers in a school

(2) involves small teams of students as per
their ability

(3) involves teams of teachers to optimize
resources, interest and expertise

(4) is a way out to manage with the
shortage of teachers

73.

74.
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.

8.

79,

The major purpose of assessment in Social
Science should be to

(1) gauge the extent of the knowledge of

content acquired by learners

(2)  maintain a desirable academic quality
of knowledge in the students passing
out, ,

f3) provide credible feedback on the extent
to which educational' objectives have
been achieved

(4) predict the learners’ chances of
pursuing a  successful carcer in
humanities

“Child-centered’ pedagogy is

(1) teaching as per the desire of a child

(2) teacher ecxplains the concept by
standing in the centre with children
encircling her

(3) giving primacy to children’s
experiences, their voices, and their
active participation

(4) 1o teach children in small child care
centers Lo ensure individual attention

‘Social and Political Life’ textbooks use

which  of the following  methods  to

contextualize education to a child’s world ?

(1) They astutely intermingle the social
and political lives of Indian people

(2) They use a lot of case studies and

narratives in a mix of rural and urban

examples

(3) They cite results of many surveys done
in this reference

(4)- They incorporate lesser number of
pictures to avoid distractors

A trainee teacher writes one of the
instructional objectives as ‘students shall be
able to describe the meaning of democracy’,
In which demain shall this objective fall ?
(1) Synthes:s

(2) Comprehension

(3)  Analysis

(4)  Skill

76,

77.

78.

79.
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3 aeR § wwraal @ ufsemol e

(1) o= FI TBIER e

@) fwm o= & g | F 99 § wg
R Taeqell @ Wy w3

(3 T & ogwel, I R sk 3

afks wmfrar & wafrwar 27

Fafchen WH & g w9 % fau

B PR ere F5 W aed A wem

4

s s s sia sea-ge ae
HE & df Rwn w wefm oww ¥ fao
Frfafad 4 4 fFg vgft & swdm @@ §

(1) 3 990 ¥ 9T w5 wh, ek
Ui Sftem & it o 8

@ 9 7w ok el Iqel ¥ whmw ¥
I Y A T v e et &
@) 9wl ¥ T et wdevi &
fersrnll o1 3ereRor 2t & :
4) 9 @R 9 QA T ¥ A w5 e @)
afwfera st &
U Frm-afeeond @ R s
ﬁwm%—‘mmwmw
ms‘rm@r%wmwﬁm%?
(1) Hyelyo
(2) @
(3) favero
(4) Fhd
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BO.

81,

B2.

Ba.

While tesching an issue sensitive Lo a

particular communily, bul deseribed in the

textboal,

117 the tescher should respest the testhosk
and explain the lacls as given

(2} the teacher should write in the
autherities to amil the contentions tepic
fram the carriculuzm

{3) the teacher should explain the eoncept
with sensitivity wnd frm commitment
while respecting the dignity ol all
students

(4} the teacher should ask students ta
rake notes on these in the libeary or at
home

Cultoral,  social  and  oass  differences
generate their cwn bisses and prejudices in
the cantexts of classrpoms, The apprach to
teaching therofore noods to be

(1} Discossion-oriented
2] Open-ended

(3 Lecture method

(4] Project-orientad

Which amongst the following iz sssociated

with oral reasoning 7

(1} Imitating peers

121 Writing an
words leudly

13 Impremptu application und
extrapolation of coneepts

arlicle by pronouncing

4] Marraling an algorithm

In order to promote Interactive environmenl

in a Boclal Science class, which of Lhe
follewing approsches would  be  most
suitable T

{11 Dictation and practice
Y Tesrzmrotesting
(31 Lectare and explaratioan

(41 Showing documentiries

51,

B2,

Bi.

AT A, el wE Fem o R

LRl A T
() fem = T H WA T
afin s e S S T sl

F afe i RE R m
() ﬁmaﬁwaﬁfmﬁa%rﬂﬁmﬂm

4y T
4 s 5t frofd @ =m0 wf f5 &
o] q

7 m T f Wi, oW s
ﬂﬁﬁﬂﬁmmﬁmwuﬂ i
afmfri # wem ww § ) awr fmw @
YA A AR
(1 T
i) HE-¥E
i@ gk
i4) -

Facfalin o 4 sk dfas #m § st

27

(1) wEE A &

(2 WE W AR W TR R R v e
(GG

(3 HEEEd W ded SR U
difier

i) R sfEm (deifie) @ oA s

aEfas fage e # ek gEiEm
agel 23 & fay, fefafes & @ s-m am
Wl 3vgE & 7

AT T
o HIRE Wi
(3 T ST TIE
() ga-fan i) f
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44,

a1,

A leacher  while xplainin

practices  discusses  case studies  pn
agricultural practices in India and the USA,
Which aspect of learning iz shahe focusing.
an ¥

(1 Abiliyy Lo understand the concept
i8] Ability ta interprat and axplain
{30 Ability to make a better Project

[ Ability lo fparn by comparing and
tentrasting Lhrough concrote examplos

The question-answer technique can be quite
effective in teaching Spcial Science as it
ETSIrag

(11 a marg dizviplined clasy

[ an adive Purlicipation by lenrpery

3 sludenls' abilily o respund better in
EXAminalion

) students come into clasy will-preparad

One of the mast impartant and effective %

metheds of teaching History at elementary
level i3

(1) Lecture methed
{2 Diseussion rmethad
131 Question-answer methad

Ml Etorv-telling methad

I order to promote the process of cooperative
learning, the teachey shayld

(11 assign Eroup projects

2 engage students in  dabate ang
discussiony
@ divide the dlags into  proups  uf

hemogenecus ability

W allet  individual REZEignmMent to each

student

B agricultural |84, 1 ﬁwﬁr@m%ﬁ#ﬂﬁﬁﬁmm@

'ﬂnﬁaﬂ‘{ﬁgi’ﬁmﬂﬂﬂﬁm%?ﬁ-aﬁﬂﬁ

ﬁm-mﬁmﬁmmﬁélaﬁﬁﬁ%

T W W ow § o

0} W F w8 g

(2 ﬁa’mﬂhﬁu‘@n%ﬁaﬁ?ﬁﬂm

i3 %‘mqﬁﬁmmﬂiﬁm

(4) iﬁmﬁ%wﬁwﬁaﬁm
T @ ) A de

TE-IW TG A e f R

LR R e 3

Hfrm w4

(0 A sl wy

LT T i o e

wi W G H o gawi

TEifiFl = gy

() ﬁ:’ﬂﬁﬁmamﬁ#mﬁﬁemwﬁ
#H

4

T W TR A m
ST o A

(1) =R Uy

2 T gy

3 TE-IW ik

) T gy

GEERE

E?ﬂ‘ﬂi’fﬂaﬁn‘:rﬁﬁﬂﬁﬁm&i

Fmre =

i H@mwﬁhm-m%mm

12 Hﬁ-ﬁ'ﬂmﬁﬁlﬂﬂf&ﬁﬁﬁmﬁﬁiﬁ
M Feq .

a

T 2 & e

taawﬁmﬁmﬂ{ﬁﬁﬁwﬁa
T wfgm

mmﬁmﬁﬁﬁuﬁm:ﬁ-iﬁh
L
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B8.

89.

90.

While dealing with ‘Social Equality’, what
should be the most appropriate approach for
teaching ?

(1) Explaining the concept as described in
the textbook

(2) Giving a project to students to review
texts relating to ‘Social Equality’

(3) Citing the cxperiences of the
communities that make up the social

and cultural milieu of the child

(4) Explaining in detail the practice of
untouchability

In teaching of Social Sciences, the emotions of
children are most easily aroused not by words
but by sights and sounds, for which the most
effective way of teaching is through

(1) Project method
(2) Lecture method ,
(3) Field trips and surveys

(4) Classroom discussions

While teaching the concept of ‘Weather and ¢

Climate’, what would be the most appropriate
activity to make students understand the,
various elements of weather ?

(1) Solve the worksheet provided by the
teacher based on the elements of
weather

(9) Collect the weather report of five
consecutive days from the ncwspaper
and stick in their notebooks

(3) Ask them to draw the symbols of
elements of weather

(4) Write answers to the questions related
to weather in the notebook

S i O B

IYH IUT A AT ?

() SR @ oTeti w S
- § au R e R

@ owhe e Y S -t @
when % foq foaf@d & ofEe-sd
&

(3) Wl @ orpd % qE M W a W
g o wrehe Raw T ¢
(4) FEEA & TR F AR e

i ‘

s fagri % fowor §, a=d & o 9gd
A ¥ IR AT ¥ — TR ¥ afew
T ol o ¥ — g fau fowo @
- qlw T s e @ 7

(1) i@ vghd

) HEH Tgd

(3) G-yl S weem

(4) ey e

e 3 Star @ e wER W ER

v e A @l ford el e

¥ fafie TR & ol @ g 6 ?

(1) dem F ad W oERd RE gN
I U MU A (FHuE) @
7

(9)  QUFR-TT § emrar g fet & odke A
R o wEA FE SR IE ST A
¥ g

(3) 3% Hew F dw@ & Td/ded F
T & fAw wE

(4) g § dew I A & IW e,
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PART IV
LANGUAGE 1
ENGLISH
Yirections : Read the passage given below and v ,
nswer the questions that follow (Q. No. 91 to 99) by There was an unexpected lapse on August
slecting the most appropriate option. 12, 1945, and consternation swept through the
The Big Ben Mmls'try of Works. On that dark day, the clock
was five minutes slow. A flock of starlings had
Every evening, some part of the British roosted on the minute hand.
Commonwealth hears the chimes of Big Ben,
largest of the bells in the clock tower of the [91. Aside from popular usage, Big Ben is really
Palace of Westminster. The bell is popularly the -
called Big Ben, and it is this bell which chimes (1) clock tower of the Palace of
out the quarter hours to the people of London. Westminster
For Britons at sea or living in distant lands, (2) great bell in the clock tower of the
the sound of Big Ben is still a link with home, Palace of Westminster
he chi e broadcast eac ing “
for t e C 1mes are br'o wdeast wd? evening by (3) exclusive radio signal of the BBC
the British Broadcasting Corporation.
(4) name of Chief Lord of the Woods and
Big Ben has been chiming out the quarter Forests
hours now for more than one-and-a-half
centuries. It started chiming on June 11, 1859, |92. The year 1959 was the
] (1) 59t anniversary of Big Ben
At that time, the Parliament couldn’t .
) . (2) last year Big Ben was heard
decide what to name the bell. A light-hearted th . o
. . . (3) 100" anniversary of Big Pen
Member of Parliament called attention, in a e B
speech, to the impressive bulk of Sir Benjamin (4) year in which Big Ben was restored
Hall, Queen Victoria's Chief Lord of the Woods |gg, e word ‘consternation’ used in the last
and Forests. paragraph stands for
“Call it Big Ben,” said the speaker, and (1) anxiety
the name stuck. (2)  despair
(3) alarm
Big Ben is 9 feet in diameter, 7 feet
(4) sorrow
6 inches tall, and the thickness where the
hammer strikes is 8-75 inches. 94.  In the Royal Astronomer’s 290-day check, it
. was established that
The clock that regulates the chiming of
Big Ben keeps good time. In 1939, the Royal (1) the clock was reasonably accurate
Astronomer made 1 290-day check on the (2) the clock was losing time alarmingly
performance of the clock. He found that during , o . )

) ] i (3)  the clock did not function properly for
this test, the margin of crror was less than 93 days ’
two-tenth of a second in 24 hours on 93 days ’ _ .
and greater than one second only on 16 of the (4) the clock was maintaining accurate
] time on all days
290 days.

45 |
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45,

g,

By,

84,

On Auguar 19, 1845, Big Ben's clack Wils

(1} bumbpd

(2] 5 minutes slow

) buing ehecked for aceurngy
My 5 minulys fua

Far the Britong e w3 or living in distant
lands, the Big Ben BErves as g link with
heme. Tt shows that

{11 the British are fond of travelling o
lar-off Jandg

(2} the Big Ben has become a pawerful
national symhgl

(3] the British dre very patriate
Ml the British arg Very sentimenty)

Puople wutside Londun ean hear the chimes
of the Big Ben beoyup

(1) the bells soupd B & loud that it can
travel t all parts of the world

2 the legendary bell hag beeome & global
phenomenan

(31 the DBC broadeasts the chitnes

[4)  the recording of the bells chime 18
available all over the world

The cleck last flve mitfubes tneg beppyss

i1 the maintenaner was po done by the
Ministey of Warks

{E) it was g dark day

3 zome starlings  had raggted on the
mifile hand

"4 there was an Bhexpected lupse

“Call it Big Ben® can be Written in passive
Voice &g

() Let it be called Big Baen
(21 People should cal] it Big Ben
Wl We may call 2 Big Ben
Wh You will egl] gz Biz Ben

Directions ; fegd the Poetn given below gnd grawer

1al.

the questions fhy
Selerf e e st ERrapritade optie,

100,

follow Q. No. 100~ 105) by

I Build Walls

U builsh weisl e

Waalls thyy protect,

Wallz that shiald,

Walls that say T shal] not yield
Or rovan|

Wha Tam or how T fegl,

[ build wally:

Walls that hide,

Walls that cover what's inzide,

Walls that stare ap smilo or Tnok gwqy,
Eilenl lics,

Waills Lhat wyen lock Ty oy

From dhe tenrs | rvight Tve opjed.

1 build walls:

Walls that never Jot me
Teuly tauch

These [ lave so viry much.
Wallz that need to i 1
Walls meant tg be fartresses
Are prisons afber gl

What are the walls i this peem made of #
L Bricks g amy physical mutoral

(2} Cement ang Lilge

W Blood and flegh

M1 Hiddog frelings and thoughis

The poet ses “weallg" a5 g
1 Simile

(2 Personificatinn

3} Metaphor

W) Alliteration

46 |



gl I UTadl GU&T ST -2012 g5-9F 11

12,

“

When walls act as a protection, they
(1) do not reveal what is inside

(2) make one shed tears

(3) touch the ones who are truly loved

(4) surrender to strong feelings

The expression ‘silent lies’ in the second
stanza implies -that

(1) walls are silent
(2
(3
(4

) walls are liars
)} walls make one hide one’s true feelings
)

walls lie silently around all of us

Why is it not a good idea to have these

“walls” ?

(1)

(2) They act as a prison and keep loved
ones away.

They act as a fortress.

(3) They are made of bricks.

(4) They hurt others,

Walls built to protect us ultimately turn into
a prison. It is an example of a

(1) satire
(2) paradox
(3) puzzle
(4) riddle

rections : Answer the following questions by
‘ecting the most appropriate option.

6.

Constructivist approach to language teaching
expeets the teacher o

(1) construct his own curriculum

(2) make lecarners their  own

textbooks

prepare

(3) help construct knowledge using their
experiences

(4) give pre-constructed knowledge to
learners

107.

108.

109.

110.

A child-centred classroom is characterized by

(1) children sitting in the centre of the

classroom

(2) children teaching other children under
the supervision of the teacher

(3) very passive teachers and active
learners ’

(4) a variety of learning activities for the

learners

Which of the following is not a legitimate
purpose of assessment in education ?

(1) To identify individual and special needs
of learners

(2) To improve the teaching-learning
process

(3)  To rank the learners on the basis of

marks

(4) To find out to what extent curricular
objectives have been achieved

When students learn a language for bright
employment opportunities, their motivation
is

intrinsic

0]
(2) exotic
(3) eccentric

(4)  extrinsic
A teacher uses aoreport from o newspaper Lo
teach writing, The
teaching is referrved to as

material used thus for

(1) Realistic material
(2) Natural material
(3) Authentic material

(4)

External material
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111.

T1E

173.

114,

115

When a test jtem expects the lrarners o yze
tense farms, voies, cenneclors, preposiliong
and  articles dccurately, such an approwcl
can he called

(L inlegrated wrammar LusLing

(4l apserted Eriminar practies
R mixed grammar sk

(4! improper grammar skt

Minimal pairs wpe usually weed e give

practice in

(1) vacabulapy
{4
L3 pronwnciation

structures

4} reading

‘Prediction’ ng a subakill is associated with
i1l HUERmarising

[ mote muking

[ reading

(4} drafling

A teacher gives many senlences and asks
her studants 1o areange them inlo & lettor
using appropriate connoetors, The skill that
iz chiefly involved in this tagk is

(1} expanding nates
E}  organizing
(3 renwTiting

41 collecting tnfirmation

The language skills that cannal be aggessod
through a traditional Pen-paper test ore

(1) reading and speaking
(2] writing ang listening
3] reading and listening
M listening and spoaking

116,

117,

114,

114,

1240,

Which af Lhe alloweings 1 prad o sy whull ¥
L Nute Luking
Ll Using a divtivnary

W Gelling infarmation franm it

encycluprodia
(41 Writing formal feparts

When a tensher gzes Ingsony in Scionee and
Sorial Scienes o leach language, such an
Appreach can be tormed as

(1F Pluralistic languags teaching

(2} Dhscipline-wiza lanjuage teaching
() Lanpuage across the curricolum

41 Objective language teaching

Fomendial teaching voliors to Lenelingg
LI Lo address mps in learning

o after the regulne schogl haure
WF to help bright learners 6 axcp]

4} to test learners periodically

Language skills ahould be taught
(I} in isolation

(2} through slear cxplanations
(3] in an integrated e

(b throogh imitaiion

Alter reading a story on fish, i o teacher
asks children to angwer — “Imagine vou' are
a fish in @ pond. What do you gie ground
you * Thiz js nn examplie of

LE) Cloze type question
(2 Open-ended Guestion
(31 Multiple ehoigg YuELiGn

r Comprehension Question

a8 |
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- B R | T o R A § o o &

qmr

{1

A%
I

fedt

FIET : TR @) YEE At s (16 o) q99)|
ﬁmmﬁmgﬁm

F A T g fr § e e e
H W I T I % A o6 AR % foqr
I WA T T | T AR W Ue At J

T A W A d d fr
HEH A F A F s A A e o
ARG e I T e s
feranfle, <M g T e @ 1 o v
# foredt ol v W e v 3 @ @ &
SREEER SRR Co R A rC R thp—
qraa faar 2

FA-HAT F TH I T R oy
mmmaﬁquﬁww
ST ST HH € | A S A R e )
mmaﬁm%‘éﬁﬁw%a}mm
B A T T | w2, e e
e R 3 el W o v e |

R R R
o % for: % e a9 W feafd g ey
o} T w Y w2
maﬁ@ﬁ@m%mwmﬁ

il T W e A 3 B A @ e
% A 31 FYmERT B wE

T4 T T A w3
U I g
méﬁwma&'wq%wa,m
ﬁmmfﬁm‘maﬁvﬁméqm
TR, AR YW A D v 2 g ey 6
U T 927 g T T 3§ A

92.

94.

R 1R e d R i o el fppit

Tl WIE 1@ B e gl a

T ST AE i awwr my @ )

(1) Te[ | I9F @ Ay ¥

@) T FeE F A A A

(3) T TEE R FEA R firern @

(@) T SEE e A de F e g
gy §

oG ¥ T AN Rl T

¥ 71 drar 2

(1) warl & 9@ Sam

2) aﬁ#ﬁaﬁ%ﬁ%w—mﬁﬁ%’

(3) T WA A H A g @ o

(4) ?ﬁvwmém@mwmf

w—ﬁm%mﬁﬁmaﬁqﬁmm

W) & o e F e g §

@) fo & olenel ¥ o= warw T A 4

@) o7 F Wt S T e

@) o9 & vl § il g oy 8

;ﬁi%aﬂﬂmﬁsﬁ@aﬁ?m?ﬁ%ﬂﬁ?
? ,

(1) it fE & fws s ¥ v o
TR 9

@) %ﬁmﬁm%ﬁmﬁﬂam%ma@
T a1 9

(3) oI A weRl & feum F e @ R
SR H IR Y F P I ¥

(4) T IR G R F o @ e 2
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)5, T A T FRO R G ?

)6.

7.

98.

99,

(1
(2)
(3)
4)

T 1 39, qoll H GE U
g T A
e B W w E TR A FA
i % it

WS A TS ¥ ¥ T F@ R F

(1)

(2)
3)

4)

T AW ded & faoA-SRA H e

W AW ¥ ‘
T e el oot W ¢

T W 98 Sa @ 6 see & femm

¥ 9 @R

T | #oqed el s @ R

fage’ H T Y9G R @ Ve 94

(1)
(2)
3
4)

ferferch
LRI
EEIEED
fergriis

T, W, T R F TEI w9 €

M

(2

(3) WRE, W, At

(4)

A ge # R ot faanfddi ... aw #

Yaifrd wdam 2

(1
2
(3
(4)

TEFATEE HH
TEYATTE g
SfTvgaraE FaAm

(9. 100 ¥ 105) % waw 3faq [FFeq AT |

T F W U A A
A agd T @
gl Far &

a4t @ A9 s9 W gied 9
el Siad e

9 W g W,

B gU T

T I § 3 W
g T
W R W
ded § W
-3 g § fors
T - & ¢ R

il i i Ci
ag o § A9 @ Fen
& Afdw T

100. 39 Haa § F Ry wEifE W @ @ ?
(1) oG o o R
2 A@F & §Y F TH ae W R
(3) wEw Afew A A
@ K & R =

101, oG AfGE F &1 IR 8 2

(2) % g Je =R 8

(3) T A9 & AE F NS o ARdl 3

m%

51 |

(1) 78 & R & dicd 1 g I R 1

(4) o T G T I Wi F O AR



gl I UTadl GU&T ST -2012 g5-9F 11

102.

103.

104.

105.

Fdsr ; [iciad ¥ & 3w 34 & [T ma@ I
faeq g |

106. 35 e TR W -ovor 1 wfear § W

T @ are F dfedt § a aten @ g 2
(1) @F R THU A a9 9 o

@) s T E w §

(3) FE o AT W W A A Wil

) A # diedl ot § dd wd @
WY AT A U AR G
A ?

(1) AGF °f F G A I @ g

2) WEF IHa g 5 A 3 Tfe W@ oam
&

(3) oGS | T F SR T FEN g
g

)
)

(4) W ® WA TG

Faa § E VK- I

(1) g

2 -

(3) T, Hd-d

(4) TE-d

TR TN § W W U A A W= @
TR @ T 8 HifE

(1) % fF w= g

@) Ffaa # R v wd o §
(3) ohEF T W F@ A ARA &
@) EF T frn @

siferer Tl ¢

1 W F v W owd W F fag
VEHT FOFAT FAT

YAER-TE, ufel @ o= wfys g
i ag | oA & fafgard, @9, @R
F GEEH FT
WeE-gEE F ey T wffe st @
forga =amen

(2)

(3)

(4) TS-HUE W F qd AT

107,

108.

109.

110.

111,

112,

o % A 3R HGE qiET H 32V 2
(1) " ®gfEA @ v wE
(2) AT B W B R we

CTI L i A1 2 I
3o fyrvr-aifms sk sroAm

(4) 3TER FAT OH WG FA ¥ WHE G2
qTHT- 3754
(1) &9, @ViEs o @

@ vEEgl dr @
@) foe F avas sufefy & A a8

(4) W H F A @ gwg d

=N

Iod waqsd

(1) -Hve w1 § o o @ — AR

@) 9 F UEF-TE I ewqrf @

(3) wifecy areg @ ol ww-ahr @

@) ¥ ST # oW b v
FA @ - @1 Red 2

o % Hed # e wen @ s2vd @

(v T F faf AfrEl v

2 T H M- GAd FfEAsaE &

(3) o ¥ AT F IR G

(4) = F oI Fa ¥ WG FE

I Y @ e e i @
(1) w9FERl @ w9 ®

(2) JHEs & FON H G WA W
(3) = F GHE-EEHaE TR W

@ = e # g W
o F UET-TE § U ue W AT

(1) @ I § I &

2 T & Raw ¥ T2

(3) Faq AR FEl F O A Fd @
(4) oI B &
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113.

114.

115.

116.

frefefEd § ¥ F19-91 399 MaHe &R W o
fyrequr & 3279 9@ € 7

(1) fel ol & MR W WM W
goeie A

@ T ¥ e g5 e g |
LT

(3) W ®U H gHFA

(4) ST & fEE @ e

or-fre % ged H aR-w Fe w2 ?

(1) = Tfew A Iyeer Wi W %
SR T wd W & fr ae E &
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PART V
LANGUAGE 1
ENGLISH

irections : Read the passage given below and the priests and politicians who hold the
nswer the questions that follow (Q. No. 121 ¢o 129)

. . ; X string. They are fleeced and fooled on
y selecting the most appropriate option.

account of their ignorance. Half the ills of

It is your duty to train and develop your man are due to ignorance.

mind and acquire knowledge, as much

knowledge as you possibly can obtain. 121. What, according to the passage, is the duty

Knowledge is like a deep well, fed by perennial of human beings ?
springs, and your Mind is the little bucket that | - (1) To study correctly
you drop into it: you will get as much as you ‘.
(2) To acquire knowledge and develop the

can assimilate. The Brain, which is the mind

physical organ of the mind, is one of the two
' (3) To make ourselves cultured
precious products of the aeons of Evolution:

the other is the imponderable ‘Social instincet’. (4} To digest knowledge

This wonderful Brain, whose every convolution
. ) 122. Mind has been compared to
represents millions of years of Time, really

distinguishes you from the animals. Many (1) a bucket

animals have very powerful sense organs; the (2) a deep well

eagle, the ant and the dog have keener sense (3) a deep sea

of sight than Man. But no animal has a more o .
(4) a perennial spring

evolved Brain anc higher Intelligence. If you

do not develop and use this Brain to the |193  For human beings, their brain is one of the

utmost of your power, you are more akin to the two products of evolution. The other is their
beasts than to Homo-Sapiens. (1) keener sense of sight
Knowledge and mental self-culture will (2) instinct for living in a society
confer untold blessings upon you. You will not (3) physical strength
be the victim of superstition and demagogy in @) self-culture and knowle dge
religion and politics. You will know your duty .
and do it. To be wise and independent in your |94 What is man like if he does not develop and
religion and your politics, not to be doped and | use his brain ?
duped by the selfish priests and the scheming (1) He is akin to the motionless statues

politicians of Capitalism and so called @) He is like an angé 1

Socialism: is this not a noble aim worth

. 3) He is akin to the beast
striving for 2 Most men and women today are 3 ¢ 15 akin Lo the beasts

not free and wise: they are like kites flown by (40 He is greater than gods
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125,

126.

127,

128.

129,

What will knowledge and mental self-culture
confer upon man ?

(1) Richness of knowledge

(2) Money and material things
(3) Many blessings

(4)  Untold miseries

If one acquires knowledge and develops
mental self-culture, one will not be the
victim of

(1) breed

(2) lust and carnal appetites
(3) pugnacity

(4) superstition and demagogy

The author implies that most men and
women

(1) are arrogant in their behaviour

(2) lack social instinct

(3) do not possess capacity for free
judgement

(4) are manipulated by priests and
politicians

Pick out a word from the first paragraph
that means the same as ‘inexhaustible’.

(1) aeons

(2)  convolution
(3) perennial

(4) imponderable

The word ‘untold’ as used in the second
paragraph is

(1) a verb

(2) a noun

(3) an adjective
(4) an adverb

Directions : Read the passage given below and
answer the questions (Q. No. 130 - 135) that follow
by choosing the most appropriate option.

130.

131.

The study of history provides many
benefits, First, we learn from the past. We
may repeat mistakes, but, at least, we have
the opportunity to avoid them. Second, history
teaches us what questions to ask about the
present. Contrary to some people’s viewr the
study of history is not the memorization of
names, dates, and places. It is the thoughtful
examination of the forces that have shaped
the courses of human life. We can examine
events from the past and then 'draw
inferences about current events. History
teaches us about likely outcomes.

Another benefit of the study of history is
the broad range of human experience which is
covered, War and peace are certainly covered
as are national and international affairs.
However, matters of culture (art, literature,
and music) are also included in historical
study. Human nature is an important part of
history: emotions like passion, greed, and
insecurity have influenced the shaping of
world affairs. Anyone who thinks that the
study of history is boring has not really
studied history.

By studying history we can

(1) repeat mistakes

(2) predict the future

(3) avoid mistakes

(4)  question the authority

Which method of teaching history would the
author of this passage support ?

(1) Applying historical events to modern
society

(2)  Using flash cards to remember specific
facts

(3)  Weekly quizzes on dates and events

(4)  Analyzing wars and their causes

56 |
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132,

13k

14,

Higtary is all kot
(13 memeriging Mames, dlates and placs
iy ynderstanding international affairs

(9 studying about 3 broad range of luman
ExprTinee

41 maps, spforativn and detailed data

Flistury bs ot Berng vk

(1] it covers bath war and peace

iz it stadies human nature and cultire
)it is full of histarical events

14y il is about the mistakes we make

What is the main idea of thvis pansugs ?

011 Studying histery Tlps wa o loern frofiy
L p.lr-‘l

(2] Stwlymg
memorigatiok

(31 The cole of histery is Lo help students
deal with reul life

(4} Stedents ghiould ﬂﬂlﬁ_'i'lbﬁlu‘l. nutional
and international history

Pick qut a word from the Frst paragraph
that Tieans the same 38 “regnlts’

(1] benefild
{4 inferences
(& forees

() oubeomis

Directions @ Answer fhi follouwy guestions by
selecting the most appropriate opian.

136

The moat igportant fenture af an offective
lanjuage  clagaream s opportunity  for
learnars 10

[1h nterecl
(& evaluats
4y imitate

) relax

(1B

histery s ol jinsl

135.

140,

Cupelenluie 8 @n aduentinnnl  prUECHmmL
sl dbass el wlle

iy e il il st ul o

gL

(21 fhe gentont Cmaterial, el Logening
sirnleoies  amd [oTRingE  CapeTIEncE:
alhich will be oeeessary 19 pubilove this.
purpnes

pgr e masns of evaluating whether these
pelucaional e have Ly achibineed ar

ik

4y the lesson planming dotails of tho Lopics

In legrning @ new [angUags, syultilingualism
1=

1 s el
g inlerferenee
i o bumden

My mtlodelogy

Spuaking shill can be bost develapad I.\:."
ppiahling the learners o

{1} commrunicate in reallifn siluations

21 listen w the sodel provided By the
Lezeher

1y avaid all ervors while ppEaking

t4)  soad challenging and difficult toxts

Begling arrangement ehould be Nenible in @
Janguape classtnom because ’

11 it reduces the reaponsibility of the
twacher

[z i helps Uhe {aacher in maintaining
discipling

@1 it helps learners change their places
frequently

gy b facilitates pair wark and growp wark
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141.

142,

143.

144,

145,

Pre-reading tasks are meant for

(1) giving the meanings of difficult words
and phrases

(2) introducing the main idea and
motivating the learners

(3) explaining the grammatical items used
in the reading text

(4) evaluating the reading skill of the
learners '

Learners acquire a language by
(1) analysing the structure of the language
(2) studying the literature of that language

(3) learning about the culture of the
speakers of that language

(4) wusing the language in a natural
interactive environment

When a teacher asks her students to write a
letter after having a group discussion, she is

(1) integrating different language skills -
(2) following a traditional method
(3) likely to confuse the students _

(4) adopting the Direct Method of language
teaching

Picture comprehension is effective to promote
(1) speaking skill

(2) listening skill

(3) literary skill

(4) artistic skill

Comprehensive  Evaluation  refers  to
assessment of

(

—

) academic subjects
(2)  both scholastic and co-scholastic arcas
(3) summative assessment tests

(4) co-curricular activities

146. Teaching grammar is useful to improve
(B fluency
(2)  literacy t
(3) numeracy
(4)  accurucy

147, A mixed ability group is heterogeneous in
(1) gender and age
(2) social strata
(3)  knowledge and skill
(4) economic status

148, A good test on reading comprehension will
have questions

(1) that test the textual knowledge
thoroughly

(2) that encourage learners to write
answers without errors

(3) that test inference, interpretation and
evaluation besides comprehension

(4) that focus primarily on the structures
and words used in the text

149. Teachers should . not give corporal
punishment to learners because ‘

(1) it is risky
(2) it creates stress and fear in learners

(3) it is only an emotional release for the
teachers

(4) it makes parents very angry

150. All-round development of a child implies

(1) harmonious development of physical,
emotional and mental faculties

(2)  specialized training to make the learner
a ‘Jack of all Trades’

(3)  following the natural stages of child
development

(4) providing vocational education for the
learner to function . in any work
environment

58 |
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READ CA.REFULLY THE FOLLOWING INSTRUCTIONS :

1. Out of the four alternatives for ench question, anly

one circle for the correct answer is Lo be darkened
completely with Blue/Black Ball Pouint Penoon
Side-2 of the OMR Answer Sheet. The answer once
marked is not liable to be changed.

2. The candidates should ensure that the Answer

Sheet is not folded. Do not make any stray marks
on the Answer Sheet. Do not write your Roll No.
anywhere else except in the specified space in the
Answer Sheet.

3. Handle the Test Booklet and Answer Sheet with

care, as under no circumstances (except for
discrepancy in Test Booklet Code or Number and
Answer Sheet Code or Number), another set will
be provided.

4. The candidates will write the correct Test Booklet

Code and Number as given in the Test Booklet /
Answer Sheet in the Attendance Sheet.

5. Candidates are not allowed to carry any textual

material, printed or written, bits of papers, pager,
mobile phone, electronic device or any other
material except the Admit Card inside the
examination hall/room.

6. Each candidate must show on demand his / her
Admission Card to the Invigilator.

7. No candidate, without special permission of the
Superintendent or Invigilator, should leave his/
her seat. :

8. The candidates should not leave the Examination
Hall without handing over their Answer Sheet to
the Invigilator on duty and sign the Attendance
Sheet twice. Cases where a candidate has not
signed the Attendance Sheet a second time will be
deemed not to have handed over the Answer Sheet
and dealt with as an unfair means case. .

9. Use of
prohibited.

10. The candidates are governed by all Rules and
Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of
unfair means will be dealt with as per Rules and
Regulations of the Board.

11. No part of the Test Booklet and Answer Sheet
shall be detached under any circumstances.

12. On completion of the test, the candidate
must hand over the Answer Sheet to the
Invigilator in the’ Room /Hall. The
candidates are ullowed to take away this Test
Booklet with them.

Electronic / Manual ~ Calculator  is
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